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; 100kN/mM%# 8% % - ~ -|3mZEBZS ~ - -| 100kN/m%#8Z% % - ~ -|3mEBZD ~ -
ZhnLs 1.00 ] 000 ~ 469 5844 | #nLS | 000 ~ 4.69] 1.83 9.79 Zzh st 1.00 | 5.00 ~ 5.00 5844 | TnS | 5,00 ~ 5.00 | 1.83 9.79
2 100kN/mM%#BZ % ~ -|3mZEBZS ~ -| 100kN/m%#8Z% % ~ -|3mEBZD ~
st 1.00 1 000 ~ 5686 73.29 | =04 | 000 ~ 0.00] 1.62 8.64 Zzh st 1.00 | 5.00 ~ 6.90 73.29 | #nLS | 6,00 ~ 6.90 | 1.62 8.64
3 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
zhnst 1.00 | 000 ~ 238 31.75 | LS | 000 ~ 238|275 14.71 ZThLLS 1.00 | 6.00 ~ 7.71 31.75 | NS | 5.00 ~ 7.71 1275 14.71
4 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
Zhst 1.00 000 ~ 287 37.20 | =0 | 0oo ~ 287|276 14.78 ZThLLS 1.00 | 6,00 ~ 9.73 37.20 | RS | 5.00 ~ 9.73 | 2.76 14.78
5 100kN/mM#%# 8% % ~ -|3mEBZD| 000 ~ 052 341 18.26 | 100kN/m%#8 2% ~ -|3mERBRB| 1000 ~ 11.85| 3.41 18.26
Zhnst 1.00 ] 000 ~ 335 42.59 | Fhst | 032 ~ 3385| 3.00 16.05 Zzh st 1.00 | 500 ~ 1185 42.59 | #hst | 5,00 ~ 1000 | 3.00 16.056
6 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 2% ~ -|3mE#BZD ~
ZzhLst 1.001 000 ~ 697 8839 | #nst | 0oo ~ 697|264 14.15 Zzh st 1.00| 500 ~ 1163 88.39 | NS | 5,00 ~ 11.63| 2.64 14.15
- 100kN/mM#%#8Z % ~ -|3mZ#BZ 5 ~ -| 100kN/mM%#8 2% ~ -|3mE#BZD ~
zhnst 1.001 000 ~ 757 96.90 | #hst | ooo ~ 7571287 12.70 Zzh st 1.00 | 5.00 ~ 10.60 96.90 | TN | 5,00 ~ 1060|237 12.70
s 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -|3mEEZD ~
LS 1.00 | 000 ~ 756 96.78 | #nst | 0oo ~ 756|263 14.09 zhst 1.00 | 500 ~ 1331 96.78 | TNLSY | 5.00 ~ 1331|263 14.09
9 100kN/mM##BZ % ~ -|3mEBZD| 000 ~ 0.72| 4.54 23.25 | 100kN/m##% % ~ -|3mERZB| 500 ~ 1265| 4.54 23.25
LS 1.00 | 000 ~ 204 1573 | #hst | 072 ~ 204 3.00 16.05 ZThLLS 1.00 | 500 ~ 1265 15.73 | =St | 5,00 ~ 5.00 | 3.00 16.05
10 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -|3mEEZD ~
zhs 1.00 | 0.00 ~ 665 83.93 | FhLst | 000 ~ 665|176 9.43 Zh s 1.00 | 5.00 ~ 800 85.95 | #ns | 500 ~ 800|176 9.43
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZzhLst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
LS ~ ZN LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
LS ~ ZNLS ~ ThLLsh ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh Lo ~ Zh LS ~
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